Mayor Andrea Horwath

2023	Total Expense \$	# of Attendees	ProRated Expense \$
Meeting Expense - West End Diner - Jan 5/23	52.21	2	26.11
Meeting Expense - The Hamilton Club - Jan 27/23	54.95	2	27.48
Women of Distinction Awards - YWCA - Feb 27/23	200.00	2	100.00
Meeting Expense - The Hamilton Club - Mar 10/23	65.13	2	32.57
Rotary Club Event - Apr 2023	63.04	2	31.52
Meeting Expense - The Hamilton Club - Apr 21/23	110.47	4	27.62
Emmanuel House Dinner - May 4/23	150.00	1	150.00
Meeting Expense - The Judge - May 5/23	151.33	11	13.76
Meeting Expense - The Hamilton Club - May 9/23	72.00	3	24.00
Meeting Expense - The Hamilton Club - May 23/23	70.50	2	35.25
Meeting Expense - May 29/23	35.64	1	35.64
Meeting Expense - ETT Bread Bar - May 30/23	121.09	6	20.19
Meeting Expense - The Hamilton Club - Jun 2/23	65.00	2	32.50
Meeting Expense - Pizzaiolo - Jun 5/23	44.94	6	7.49
Meeting Expense - The Hamilton Club - Jun 23/23	29.00	1	29.00
Meeting Expense - ETT Bread Bar - Jun 26/23	62.38	2	31.19
Meeting Expense - Bread Bar James - Jul 28/23	86.98	5	17.40
Meeting Expense - The Hamilton Club - Aug 2/23	64.80	2	32.40
BAM Rotary Club Event - Aug 11/23	160.00	1	160.00
Meeting Expense - A&W - Aug 24/23	32.27	2	16.14
Meeting Expense - The Hamilton Club - Oct 3/23	61.84	2	30.92
Meeting Expense - Conversate - Oct 3/23	230.52	2	115.26
Harvest Dinner - Oct 12/23	175.00	1	175.00
Meeting Expense - Plank Augusta - Oct 19/23	56.02	2	28.01

Mayor Andrea Horwath (Continued)

2023	Total Expense \$	# of Attendees	ProRated Expense \$
Meeting Expense - The Hamilton Club - Dec 5/23	65.44	2	32.72
Meeting Expense - The Hamilton Club - Dec19/23	64.44	2	32.22
Meeting Expense - The Hamilton Club - Dec 20/23	64.44	2	32.22
Meeting Expense - ETT Bread Bar Dec21/23	232.61	9	25.85
OBCM AGM / Conference Kitchener, ON Apr 19-21, 2023 Accommodation Per Diem Parking	444.22 40.00 52.00		536.22
FCM Annual Conference and Trade Show Toronto, ON May 24-27, 2023 Registration Per Diem and Meal Parking	1,118.70 163.63 166.11		1,448.44
Sister City Visit Racalmuto Sicily, Italy Jun 30 - Jul 14, 2023 Transportation - Air Accommodation Per Diem	2,952.49 859.20 1,060.66		4,872.35
Bloomberg Training New York City, New York Jul 14 - 15, 2023 Transportation - Air Accommodation Per Diem	394.84		394.84
AMO Conference London, ON Aug 20 - 23, 2023 Registration Transportation - Car Accommodation Per Diem and Meals	966.16 38.08 434.37 219.88		1,658.49
TOTAL	\$ 11,552.38		\$10,232.79

\$ 1,237.20

Councillor Wilson - Ward 1	Coun	cillor	Wilson	- Ward 1
----------------------------	------	--------	--------	----------

	2023		otal ense \$	# of Attendees	Rated pense \$
NIL			-		-
		TOTAL	\$ -		\$ -
					<u> </u>

Councillor Kroetsch - Ward 2

	2023		Tota Expen \$		# of Attendees	Rated ense \$
NIL				-		-
		TOTAL	\$	-		\$ -

Councillor Nann - Ward 3

2023	Total Expense \$	# of Attendees	ProRated Expense \$
FCM Annual Conference and Trade Show			
Toronto, ON			
May 24-28, 2023			
Registration	1,118.70		
Per Diem	110.00		
Transportation	8.50		1,237.20

TOTAL

\$

1,237.20

Councillor Hwang - Ward 4

2023		Total opense \$	# of Attendees	oRated opense
Mileage		185.64		185.64
Meeting Expense - The Judge - May 5/23		13.76	1	13.76
Meeting Expense - Pizzaiolo - Jun 5/23		7.49	1	7.49
	TOTAL	\$ 206.89		\$ 206.89

Councillor Francis - Ward 5

2023	Total Expense \$	# of Attendees	ProRated Expense
Mileage	178.16		178.16
Meeting Expense - The Judge - May 5/23	13.76	1	13.76
Stoney Creek Chamber of Commerce - Citizen of the Year Gala - May 18/23	195.00	3	65.00
Meeting Expense - Barangas - Jul 14/23	88.14	4	22.04
Meeting Expense - Brewers Blackbird - Aug 3/23	97.42	3	32.47
TOTAL	\$ 572.48		\$ 311.43

Councillor Jackson - Ward 6

2023	Total Expense \$	# of Attendees	ProRated Expense \$
Trenholme Bocce - Dinner/Dance Fundraiser - Feb 4/23	100.00	1	100.00
Women of Distinction Awards - YWCA - Feb 27/23	150.00	1	150.00
Bishop's Charities Dinner - Feb 28/23	150.00	2	75.00
Jazz Up - Good Shepherd Centres - Mar 6/23	350.00	2	175.00
HMCS Star Centennial Ball - Mar 1/23	300.00	2	150.00
Meeting Expense - Brown Barrel - Apr 6/23	101.10	2	50.55
Meeting Expense - The Judge - May 5/23	13.76	1	13.76
Meeting Expense - Barangas - Jul14/23	88.14	4	22.04
Meeting Expense - Symposium - Aug 13/23	56.78	2	28.39
Autumn Stroll - Ancaster Rotary - Aug 20/23	247.62	2	123.81
Meeting Expense - Brown Barrel - Sep 19/23	36.45	2	18.23
Cancer Assistance Program Gala - Nov 9/23	150.00	1	150.00
TOTAL	\$ 1,743.85		\$ 1,056.78

Councillor	Pauls -	Ward 7
------------	---------	--------

	2023		Total Expense \$	# of Attendees	ProRat Expens	
NIL			-			-
		TOTAL	\$ -		\$	-

Councillor Danko - Ward 8

2023	Total Expense \$	# of Attendees	ProRated Expense \$
Women of Distinction Awards - YWCA - Feb 27/23	300.00	2	150.00
Showcase of Hearts - Mar 30/23	150.00	2	75.00
Chief's Gala Dinner - Mar 31/23	300.00	2	150.00
AGH Gala - May 27/23	350.00	2	175.00
Meeting Expense - Jun 30/23	6.84	2	6.84
Meeting Expense - Jul14/23	88.14	4	22.04
Liuna Station - Sicilia Canta - Nov 22/23	300.00	1	300.00
Meeting Expense - Nov 29/23	46.78	2	23.39
TOTAL	\$ 1,541.76		\$ 902.27

Councillor Clark - Ward 9

2023	Total xpense \$	# of Attendees	PRated pense \$
Stoney Creek Chamber of Commerce - Citizen of the Year Gala - May18/23	\$65.00	1	65.00
TOTAL	\$ 65.00		\$ 65.00

Councillor Beattie - Ward 10

2023	Total Expense	# of Attendees	ProRated Expense \$
Meeting Expense - The Judge - May 5/23	13.76	1	13.76
Meeting Expense - Brewers Blackbird - Aug 3/23	97.42	3	32.47
Meeting Expense - Kelsey's - Sep 26/23	51.98	2	25.99
T	OTAL \$ 163.16		\$ 72.22

Councillor Tadeson - Ward 11					
2023		Total Expense # of Attendees \$		ProRated Expense \$	
Mileage			2,056.72		2,056.72
ROMA Conference - Toronto - Jan 22-24/23 Registration			694.95		694.95
Meeting Expense - The Judge - May 5/23			13.76	1	13.76
Meeting Expense - Pizzaiolo - Jun 5/23			7.49	1	7.49
	TOTAL	\$	2,772.92		\$ 2,772.92

Councillor Cassar - Ward 12

2023		Total xpense \$	# of Attendees	roRated xpense \$
Mileage		319.60		319.60
Meeting Expense - The Judge - May 5/23		13.76	1	13.76
	TOTAL	\$ 333.36		\$ 333.36

Councillor Wilson - Ward 13

	2023		Total Expense \$	# of Attendees	ProR Expe	
NIL			-			-
		TOTAL	\$ -		\$	-

Councillor Spadafora - Ward 14

2023	Total Expense \$	# of Attendees	ProRated Expense \$
Rev. J.C. Holland Awards - Feb 18/23	85.00	1	85.00
Women of Distinction Awards - YWCA - Feb 27/23	150.00	1	150.00
Chief's Gala - Mar 13/23	150.00	1	150.00
Meeting Expense - Pizzaiolo - Jun 5/23	7.49	1	7.49
Negev Gala Dinner - Jun 6/23	250.00	1	250.00
Meeting Expense - Barangas - Jul 14/23	88.14	4	22.04
Meeting Expense - Brewers Blackbird - Aug 3/23	97.42	3	32.47
Food4Kids Breakfast Gala - Nov 21/23	300.00	5	60.00
TOT	ΓAL \$ 1,128.05		\$ 757.00

Councillor McMeekin - Ward 15

2023	otal pense \$	# of Attendees	oRated xpense \$
Mileage	747.32		747.32
Outstanding Business Achievement Awards - Apr5/23	125.00	1	125.00
TOTAL	\$ 872.32		\$ 872.32